ohE 3 uhE] deh AL ol AelH mEAlL.

D 1132m = 11.32km @54.1 kg = 54100 g
® 3km 90m = 3.9km @ 1.13kg=113g

® 17.02cm = 1702 mm

~&B

1m = 0.001km, 1g = 0.001kg, 1mm = 0.1cm

@ 1132m = (1132 x 0.001) km = 1.132km

® 3km90m = 3090 m = (3090 x 0.001) km = 3.09 km
@ 1.13kg = (1.13x 1000) g = 1130 g

® 17.02cm = (17.02 X 10) mm = 170.2 mm
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(1) 605cm =] |m
(2) 3km 350m =[_|km

D (1) 605 (2) 3350 @ (1) 6.05 (2) 3.035

@) 6.05 (2) 3.35 @ (1) 6.5 (2) 3.305
® (1) 6.5 (2) 3.35

~&B

1
100cm = 1m,1000m = lcm /2% lecm = —— ,1m =
100 m
—— km ©|T.
Too0 < 1%
605
1) 605 = — = 6.05
(1) cm = J55 m m
3350
(2) 3km350m = 3350m = —— km = 3.35km

1000




3. 259 5SS vt AltSHA L.

5.451
+2.08
> £
> =g 7531

B

AHeloll Fofsh 22 Aol 271 e
5.451

+2.08
7.531
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5.548 — 0, 001 ©] 5548

+1.68 — 0, 001 0]
[ @ |<— 0. 001 °]
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7.228

0
L

1680

vV V. VvV v v V
0
L

HEh 7298

5.548 — 0. 001 ©] 5548
+ 1,68 — 0. 001 9] {1680

7,228 0. 001 o|
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11, 9=2( el &9 ERALL.
5196 cm = ( km)

» = km

> el 0.05196 km

lcm = 0.01m, 1cm = 0.00001 km
5196 cm = (5196 x 0.00001) km = 0.05196 km




12, the-2 guy AeflA of ] 27HA] o] A=) E vebd 2t Fujy]
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[
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>
> ®ef w5

B ,
1m = 0.001 km
- Fudlell A FE7ER 9] A
430m = 0.43 km
<50l Fl < F4F <BHE o B2 7P ke e g eeltt.
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Ox5=0x3+12
Ox5-0Ox3=12
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© = 6(cm)




